
Worlds Simplest 
Clock

The Assembly

Version 2

Compact disc 
escape wheel

4may�4



.940



ITEM
NO. QTY. DESCRIPTION

1 1 Baseplate

2 2 .062" ID x .25 OD x .125"lg
plastic bushing

3 1 Dowel pin 0.0625" x 0.1875"

4 1 nut  #6 -32

5 2 Button Head Screw  #6 -32
UNC x ½''

6 1 Front Plate

7 1 Standoff

8 1 Dowel pin 0.0625" x 0.5"

9 1 Washer   #6  SAE

10 1 BHCS  #6 -32 UNC x 1''

11 1 Lever Pivot Shaft

12 1 Weight on string

13 1 escape wheel from
compact dis

14 1 Escape Wheel Shaft

15 2 Dowel pin 0.0625" x 0.25"

16 1 8 T-pinion-14DP

17 1 compact disc lever

18 1 Lever Pivot disc

19 1 Pendulum Film Strip

20 1 Pendulum Bob

21 1 film clamp

22 2 Screw Flat Head #4 -40
UNC x ¼


